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Evaluate 3ht when h = 4 and t = 2
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L=qpuvg=nudym, (q + p) angoazy
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€1 =4 puv 6 = x uaym 4 -z X 21pnpazy

Evaluate ab NsSm: a=5and b=73
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§ =1 pup O1=Y uaym ,u + 4zl oponppag

Evaluate g\ + twhenr =17and t = 8

11 =¢q puv L] = D Uaym q — v 9}pnjpaz

Evaluate 5u 2_ vwhenu = 4and v =12

6 = J puv 9¢ = y udym [y ajpnpazy

11 =b puv ¢ = d uoym by — dg appnpay

Evaluate{r — h% whenr = 100and h = 3

y =4 puv | = buaym ag + b agpngpazy

Evaluate 5s — t whens = 6 and t = 30

Gl = b puv 49 = d uoym b — Q.TNGES.M
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